Fable » Parameter estimates of the trajectory model with a zero-inflated Poisson distributional form

Model component Estimate Standard error

Count {Poisson)

Smoking-trajectory group’

Non-smoker trajectory
Intercept (centred at 20 years) -B.oz 132 <0001
Linear age A1) 215 o.e2

Experimenter trajectory
Intercept (centred at 20 years) 128 i <004
Linear age 2.03% 053 <0.001
Quadratic age .22 106 <0.001
Cubic age 217 067 QL1

Escalator trajectory
Intercept (centred at 20 years) 224 o0y <0.001
Linear age L45 013 <0.001
Quadratic age =215 036 £0.001
Cubic age L1 027 <0.001
Intercept (centred at 20 years) 0.65 ol <0.001
Linear age =233 022 <0001
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